MODEL: CF 8622-D (6') Assembly Instruction

17 pes Item C 2 pes

Item AA

1 pc Item AB 1 pc Item AC 2 pes Item A 3lpes | Item B

= < ~.

Headboard Footboard Side Rail Plastic Dowel ( 8 x 25) JCBC W M6 x 40 JCBC M6 x 40

Item AD 1 pc Item AE 2 pes Item AF 4 pes Item D 4 pes Item E 56 pes Item F 46 pes

/ [ ®\I.Euu
Center Rail

14 Slats Support leg JCBC M6 x 60 CSK M3.5 x 16 mm CSK M4 x 32 mm

ltem AG 8pes | ltem AH 8 pes Item G 32 pes 2pes | ltem1 10 pes

CSK M4 x 50mm CSK M4 x 25 mm Mini Fix Bolt

E

\

Drawer Slide 500 Drawer Slide 500

-
-

16 pes Item N 1 pc Item O 10 pes

-
-

1 Drawer Side

A\

Item 9 8 pes Item 10 1 pe

—

Panel Panel
e | rem1 2 pos White Nail Leg Allen Key 65 mm M6 Flat Washer

Ttem J 10 pes Ttem K 10 pes Item L 52 pes
Item 5 2pes | Item 6 2pes | Item 7 4pes | Item8 4pes Item M
Item P 4 pes Item Q 8 pes.

-

Item 1 2 pes Item 2 2 pes Item 3 2 pes Item 4 2 pes % mx
Small Drawer Front w . Small Drawer Back
Big Drawer Front Big Drawer Back PP . P 116
m W : Panel Mini Fix Housing Mini Fix Cap Power Nail %
“ H Big Drawer Bottom H Small Drawer Bottom Big Drawer Side d
1pe Ttem 16 1pc

Panel
Panel
nel Panel Panel
Adjuster JCBC M6 x 30

Ttem 13 2 pes Ttem 14 1 pe

-

0

1pc




5] w2
— -
¢} o)
o o
A —_
e =
g5

<
c =
=
2t
= O
o o
£ g
==
o o
=
A=
o O
S
—
:m:
==y
=
;é
(¢}
& =

(¢}
< g
W oo
v
8
=R
5] w2
-+ —
¢ ¢
o o
W N}
wnn w2
— =t
¢ o)
o o
o w




L darg

g daig

6 das




“doys oures oy jeadar pue

opIs 1oupo o) 03 HY diy oy © @ syt uoyySn pue 91 o) gy yoeny 9] doig

L1 da1s

g1 daig

g1 doig
| _—&
~
N0
- -~
7%’







pug pIeoqooq

9
&




/ Y
I / (/
AN é\(,(‘\
) ; |
/

Y%

W

o doig

¢ dorg




